
LVDT displacement (mm) LVDT #1 (counts) LVDT #2 (counts) LVDT #3 (counts)

4 -23808 -21392 -20737

5 -21531 -20160 -19145

6 -19394 -17962 -17250

7 -17256 -15712 -14707

8 -13907 -12205 -11524

9 -10668 -8744 -7949

10 -6907 -5873 -4721

11 -3192 -2321 -672

12 373 1284 2454

13 4071 4832 5583

14 8122 8162 9312

15 11621 11432 12180

16 15313 15229 15504

17 18631 18001 18736

18 21784 20748 21366

19 24929 23650 24147

20 27964 26422 27229

y = 3399.4x - 39843
R² = 0.9965
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y = 3175.2x - 36609

30000

LVDT #2 (counts)



y = 3175.2x - 36609
R² = 0.9967
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y = 3158.1x - 35556
R² = 0.9972
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